‘4# Division Word Problems (3+1) Name:

Solve each problem. Answers
1) Theroller coaster at the state fair costs 5 tickets per ride. If you had 135 tickets, how many
times could you ride it? 1
2.
2) An architect was building a hotel downtown. He bought 471 lampsto put in the rooms. If
each room gets 3 lamps, how many rooms does the hotel have? 3.
4.
3) George had 862 baseball cardsin 2 binders. If each binder has the same number of cards,
how many cards are in each binder? 3.
6.
4) There are 216 students going to atrivia competition. If each school van can hold 9
students, how many vans will they need? 7.
8.
5) Anindustrial machine made 590 shirts. If it made one minute to make 5 shirts, how many
minutes was it working? S.
10.

6) Paul hasto sall 295 chocolate bars to get a prize. If each box contains 5 chocolate bars,
how many boxes does he need to sell?

7) A farmer had 594 seeds to plant. He planted the same number of seeds each day and it
took him 9 days to plant them all. How many seeds did he plant per day?

8) Sarah uploaded 339 pics to Facebook. If she put the picsinto 3 albums with the same
number of photosin each album, how many photos were in each album?

9) Thering toss game at the carnival made 270 dollarsin 6 days. If they made the same
amount of money each day, how much did they make per day?

10) Oliver played 9 rounds of atrivia game and scored 504 points. If he gained the same
number of points each round, how many points did he score per round?
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Ch Division Word Problems (3+1) Name: Answer Key

Solve each problem. Answers
1) Theroller coaster at the state fair costs 5 tickets per ride. If you had 135 tickets, how many
times could you ride it? 1 27
2. 157
2) An architect was building a hotel downtown. He bought 471 lampsto put in the rooms. If
each room gets 3 lamps, how many rooms does the hotel have? 3. 431
4 24
3) George had 862 baseball cardsin 2 binders. If each binder has the same number of cards,
how many cards are in each binder? 3. 118
6 59
4) There are 216 students going to atrivia competition. If each school van can hold 9
students, how many vans will they need? 7. 66
8. 113
5) Anindustrial machine made 590 shirts. If it made one minute to make 5 shirts, how many 45
minutes was it working? S.
10, 56

6) Paul hasto sall 295 chocolate bars to get a prize. If each box contains 5 chocolate bars,
how many boxes does he need to sell?

7) A farmer had 594 seeds to plant. He planted the same number of seeds each day and it
took him 9 days to plant them all. How many seeds did he plant per day?

8) Sarah uploaded 339 pics to Facebook. If she put the picsinto 3 albums with the same
number of photosin each album, how many photos were in each album?

9) Thering toss game at the carnival made 270 dollarsin 6 days. If they made the same
amount of money each day, how much did they make per day?

10) Oliver played 9 rounds of atrivia game and scored 504 points. If he gained the same
number of points each round, how many points did he score per round?
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